VSROSA

1.

2.

PART A

Rickets disease is caused due to the

deficiency of this Vitamin.
(1) D
(2) K

(3) C
(4) By

- Which of the following are not a Database

Management Software ?

A. MySQL
B. COBOL
C. ALGOL
D. ORACLE
(1) AandD
(2) AandB
(3) BandC
(4) CandD

The author of the book “Feathers and
Stones” was

(1) Dr. B. Pattabhi Sitaramayya
(2) Pandit Jawaharlal Nehru

(3) Dr.K.L. Rao

(4) Durgabai Deshmukh

(4)

1.

3.

[C]
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58 DesSE 0 oo B8y TgH HYoB

(1) D
(2) K
(3) C
(4)

808 VS’ D Gerdi DY a6

A, MySQL
B. COBOL
C. ALGOL
D. ORACLE

(1) ABa D

A 0an B
B 00okn C
C 0oy D
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4) SoTEred S8k
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4.  “Visweswarayyn - was a  dreamer, al4,
thinker, and a man of action and the
country was full of moemorinls of the worlk
done by him.” This was stated by
(1) V.V.Giri
(2)  Dr. Sarvopalli Rndhakrishnan
(1)  Jawaharlal Nehru
(4) Raghupati Venkataratnam Naidu

5. Match the following correctly : 5.

Conferences Years

A. First Andhra (1) 1916
Conference

B. Sccond Andhra (i1) 19156
Conlerence

C. Third Session of (i11) 1914
Andhra Mahasabha

D. TFourth Session of (iv) 1913
Andhra Mahasabha '

(1) A-(i), B-(i), C-(iii), D-(iv)

(2) A-(iv), B-(iii), C-(ii), D-(1)

(3) A-(i), B-(1), C-(iv), D-(iii)

(4) A-(ii), B-(i1), C<1), D-(v)

6. He was the Chief Engirfuur of Irrigation
Department of Madras Government 6,
before Independence.

(1) V. Vasudeva Iyer

(2) D.Padmanabha Iyer

(3) B. Srinivasa Iyer

(4) L. Venkata Krishna Iyer
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w2ydsosog &5 gD, Dgrd b
ﬂgb HoEsthtn OO wuhis Lj.a.q
.-..SPJIJ La Ejf«ﬁﬂﬁ“ E;:J
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(1) 2.2, NO

(2) G HC8Y OV Eype

@) es35bod JEY

(4) G058 DOBLBBI0 Tt

Bod TR HOm e BET0G :

Sedrdidisoe el jlentR
A, D) o (i) 1916
m‘du)a:jq}

B. Cod&d o (i) 1915 .

"3'"%5“}53533

C. &30 oJTtdY (iii) 1914
5007855 RSRES0
D. eso|gs 0584 (iv) 1913

TN DETDFED
(1) A—(i), B=(ii), C—iii), Div)
(2) A-=(iv), B(iii), C(ii); D=1
(3) A—(ii), B-(i), C—iv), D-iii)
(4) ﬁ—(m), B—(ii), C~i), D~iv)
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7.  Consider the following statements :
A. Shivaji began his military career by
seizing the fort of Torna in 1696 C.E.
B. Aurangzeb appointed Raja Jai Singh
of Amber to put down Shivaji.
C. The treaty of Purandhar was signed

in 1665 C.E.

Identify the correct statements from those
given above.

(1) Both BandC
(2) A only

(3) ‘Both A aﬁﬂ B
(4) Both A and C

8. Article 280 of the Indian Constitution
- refers to the following body :

(1) National Commission for Scheduled
" Castes

National Commission for Scheduled
Tribes ‘
Planning Commission

(2)

(3)
*(4) Finance Commission

9. The President of India may seek the
advice of the Supreme Court under this
Article of the Indian Constitution.

»(1) 143
(27 144
(3) 145
(4) 146

7.

(6)

- (4)

808 TEEnes 56880506 :

A Brdss I8 Jwoh  DEoBE
1696 C.E. & esﬁf:s& (Torna) S0
P50 BESEoE D T0HoBD.

B. 3720 wnlEH&d8 ToorHEen

wod OB Tz  Bohd
QODODVTED.

C. DBosd S0 1665 C.E. & HHEN
S'S&08.

2 TS HOPS ToEg0d mgmma&.
(1) Bodat C 3o
(2) A SrERd
(8) AXBat» B Botr

(4) A DBo¥y C So&sr

P08 ToeEolio 280 S dwoEs (@od
PORE RO2)0HOAIE

1) 2 Horo edad 58S
DETS Bifo A SRS
Joh 55’1)55 |

(2)
(3)
(4)
g0 CergoNod’) & espES O°O° 8758
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145
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10. According to Andhra Pradesh Panchayat 10. e30(Q Lﬁc’ﬂ% SoTa0A CE $e30 1994
- 'y -] b '
Raj Act, 1994, ‘Gram Sabha’ shall meet for e9:0000Y &5 DoIEVUToos eeoRes
BRI, OF «Hi50 3 Y PIFBEHTD

(1) 4 FE/D038y0°A8
(2) 12 SPR/0IEYT"S
(8) 2 rPE/S0SEYT°03
(4) 6 FPE/[D0SENTAS

(1) 4 times/annum
(2) 12 times/annum
(3) 2 times/annum

(4) 6 times/annum

i LT E.
11. The present vice-chairman of NITI Aayog|1l: & SArh S 309

is (1) 508 SSmdare
(1) Arvind Panagariya 2) ooBS 356

+(2) Rajiv Kumar ' | 3) ©Doed sod

(3) Amitabh Kant (4) D3 FEIS

(4) VK. S t ~ _
e 12, &8 Depody Soookore K XSS

B3F6TDy 082008
1.?.. Money Bills shall be introduced at first in 1) @5&5 300 SHHAE U‘aﬁﬁﬁés
(1) Rajya Sabha only with the prior So° (€530

permission of the Chairman

(2) &35 3580 oresgogsen
- BodosdsS’

(8) Tresdess” S
(1) &6 S

(2) Both, in Lok Sabha and Rajya Sabha
(3) Rajya Sabha only
*(4) Lok Sabha only

: | wi Ju 9
13. The Doctrine of Natural Rights as a part| 15+ STS5T0,0 @86> TR oo

of the proposal for the spread of human NTEITEYO  RIToT) el
rights was popularised by . DS
« (1) John Locke (1) =°o o8
(2) Rousseau | | (2) ora*
(3) Plato : (3) R

(4) Aristotle (4) 0L e3S
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14.

15.

16.

« L)

(4)

Consider the following stateme-nt-‘?: I‘E_Iﬂte{i

to National Human Rights Commission of

India :

A. It is headed by the former Chief
Justice of the Supreme Court.

B. The Chairman as well as members of
the commission are appointed by the

President of India.

C. The Chairman and members shall
hold their office for six years.

Identify the correct statements from those

given above.

- C only
Both B and C
Both A and B
Both A and C

(2)
(3)
(4)

“Social justice is concerned with the
allocation of resources among peeple by
social and political institutions.” This was

stated by

(1) John Rawls
(2) . David Miller
(3) Max Muller
"(4) J.S. Mill
“Society is . the union itself, the
organisation, the sum of formal relations
in which associating individuals are
bound together.” This was stated by
(1) Giddings
(2) Gerald M. Mayor
(3) Higgins

H.J. Laski

14.

15.

16.

I

oriSs Biod @ O 35 TEO

EA050%  doeodow Bod TEFROO

58300506 :

A oo B srd BES TEE0SrS
B8 35S Sarer .

B. & 2055 Dt,S 80 Hgh5en &TOE
o8 3 aHosee.

C. DES S Hghyen SO
SOSHBIVL e SEHOS GO,

2 TEEves” KBRS T HGOB0G.

(1) C 3D

(2) BS8aw C dokr

(3) AH0an B Bo&r

(4) A 08aw C Bo&r

“SrRE SO  oomsab

DAGore  PEe Dy SSe  Soedd

S8sen AHoLTADY IJATD) FErRY

Ts00 Brd008.” @ BySartd

(1) 2 TSy

2) D& pd

(8) 8y aogd

4) 2.I0. DS

“SSTRO BN IS D K J ByEEo

DDEESPE0B, o0 X 3353, ©oH&™d

ﬁcﬁgm

Sislolelatev, BE ST 0SS DS
Soworrey SR &¥3 Sarmo.” A
1332_)553"53

(1) ﬂ(éﬂﬁr:]

(2) RO . Joakd

(8) oAy

(4) 0.8, o),
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17. Match the following correctly :
Author Book
A Maclver i, Principles of
and Page Sociology
B. H.M. Johnson ii. Social Theory

18.

19.

iii. Sociology : A

C. G.D.H. Cole Systematic
Study
D. Giddings iv. Society

(1) A-(i), B—(ii), C—iii), D=(iv)

(2)
(3)
(4)

A~(ii), B—(i), Civ), D—(ii)
A~(iii), B—(ii), C—(i), Div)
A—(iv), B(ii), C—(ii), D~()

Satpura hill ranges and Vindhya hill
ranges belong to this type of rocks.  °

(1) Sedimentary rocks

(2)

(3
(4)

Metamorphic rocks

Basic Igneous rocks

Extrusive Igneous rocks

‘Meanders’ are found in these places, in
the case of Ganga and Godavari rvers.

(1) Ayodhya and Anaparthi
(2)
(3)

(4

Allahabad and Antarvedi
Sitapur and Amalapuram

Gorakhpur and Dhavaleswaram

(9)

17.

18'

19.

(3)

BoB TR PO 2S363I0G ;

FIowés DDESw
A o356 DO 1,  ©ONRDHE e
a2 FrodFoe
B. 5. ii. &3S dawd
TR0
C. 2.86.275. 86 iil. Fhafre :d
DRSe3E HA
D. Agohy iv. &P

A-(i), Bii), Ci1), Div) -
A-(ii), B—i), Civ), D)
A—(iii), B—(ii), C(i), Div)
A—(iv), B—(iii), C—(ii), D)

(1)
(2)

(4)

BN DS @FeEden So8okw Jogy o5
Feoen Bz SEI0S FooH $5owoQois)

(1) €585 3o

(2) 8rross doen
(3) Efﬁ Eﬂﬂcl FOD

(4) EI“B')"S Eﬂﬁcl doen -

Ko, Rorsd Sthe Isawod’  (§od
SRToS 5B Sosten RSO0

(1) RS SHOAL OIS
(2) eoSFrt HO ot

(3) Herprd DO e O

(4) RoFsrb Hdat $SVELO
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20.

21.

22.

23.

Monsoons that occur from dJune to
September in India are known as

(1) North-east monsoons
(2) North-west monsoons
_(3} South-west monsoons

(4) South-east monsoons

The second largest port in Andhra
Pradesh is

(1) Bheemunipatnam
(2) Kalingapatnam
(ﬁ} Visakhapatnam
(49 Kakinada

Electricity is generated with natural gas
in this project in Andhra Pradesh.

(1) Narasapuram
(2) Vipeswaram

(3) Krishnapatnam
(4) Vijayawada |

The Girl Child Protection Scheme of
Andhra Pradesh aims to

A. Encourage girls to get married only

after the age of 18.

B. Promote modern cultural attitudes
and practices with regard to girls.

Identify the correct statements from those
given above.

(1) Aonly
(2 .B nn.l}r
(3). Both A and B

(4 I}TEl_therAnnr,_B

(10)

20.

21.

22

23.

C]

o5 oS’ ems S0 APoRED 6%
o= eP SRRTILE

(1)
(2)
(3)
(4)

éa%‘:'ﬁﬁ 0¢80T
E‘.‘F‘Oil)éig 50e80890°E0
S 08T
E;BﬁJGﬁJ 50803370

oS BEE’ Botss v 0 SQEO

(1)
(2)
(3)
(4)

£)S30H5E€0
EQ0{H¢3€00
DB°PIEEA0
580

SOHBEES” Dire TAWHE S #EI
SS5E3D Des0gS Soo ¥ G0

(1)
(2)

- (3)

(4)

SEIHBo
DFHYo

ReREO
2200TE

50 (PR oS erds KodEes JeEEo
(16 BS @EES D) o 5O / OFT5eD

A,

18 QOIENT'O JaHy Frd 9o
SOTE IPGD o Joeed
O8N DGyronto.

OO $020H0Y) eatHYY 0, )

95 53;]5)&:3 Nilalent)) ;3-::5?53&3853
30080 {éjﬁéﬁad‘ﬂiﬁﬁﬂ.

HPS DIFTSI0S BevSod,

(1)
(2)
(3)
(4)

A SrES3

B S

A 580 B Bodsr

A 000 B Botsr smyy
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{13 )

24. The government of Andhra Pradesh has

25.

announced

enhancement of old age

pension and reduced the age criteria from

(1)
(2)
(3)
(4)

63 years to 58 years
65 years to 60 years
66 years to 61 years

68 years to 62 years

Consider the following statements : .

Assertion (A) :

The State Government intends that
no urban poor person should be left

without a pucca house.

Reason (R) :

(1)

(2)

(3)
(4)

Water supply improvement schemes

are being taken up in urban local
bodies.

Both A and R are true and R is the
correct explanation of A

Both A and R are true but R is not
the correct explanation of A

A is true but R is false

A is false but R is true

24, SyTHROBSS0 D0Y T, SatRops &

25.

. (4)

Nesore  SROTOV SOERRE  9e0E0

5%e30008
(1) 63 D o0& 58 IHD
(2) 65 E:‘qugg 306 60 JHKH
3) 66 D% Do& 61 9HD

68 D& 008 62 IHD

208 HSSTO8 HONERS §'R8 B8 0s :

Q@S0 (A) :

$60008°0 D DS S§ Ko S5, KO
SHOT  GOLTE TP @8hEso
g AE0D.

5090 (R) :

D860 7LD DoPen I BTHT> HDIHEO
DESPE BSOSO, |

1) A So8af» R Cotdodr D&Sgw,

o800 A ¥ R D5JS s

A 580 R Focdir 38550, 50 A
% R 388 dS8ea 5o

(@)

(3) A DS 50 R eddgin

(4) A Eﬂbéﬁﬁb 0 R ﬁe'ﬁ’séﬁl)
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26.

27,

(2) A and B only
(3)
4)

To improve opportunities for the Rural

Poor to meet the social and economic

needs in six of the poorest districts is the| .

objective of

(1) Mahatma Gandhi National Rural

Employment Guarantee Scheme

(2) Andhra 'Pradesh District Poverty

Initiative Project

(l}) . Department of Rural Development
(4) Mandal Parishad Development
Office

The objective/s to improve effectiveness of
Human Resource Management for the
Andhra Pradesh Health Management
Information System Project is/are

A. Better
Management

Budget Lifecycle

B. Assess Training Needs and Plan
Training Programs

C. Enhance Employee Convenience

(1) Aonly

B and C only

A,Band C

(12)

[€]

26. eH QHHE B [TadEs O SR

217.

S0a  @0¥  eSNToRd S0
IS ODH IHHSEE 0F O G5\
SFeyTod  S9S 8reS
D0a0H00es o Ry

S0 B35 GRS 30 a{f}hdﬁaéjﬁ
£

GrfIoe) wP trod GS0Hoes
OGS SO5S BIOS0LS

(1)
(2)

(3)
(4)

eS80 338 I BoJtooes ERNORURY
VPR0) EPES ST SRS $5600 ASEE
(Togsod 86y Fo3LRooes) Bk,
RRLBI0 BoBMOSGE ©F 50 / OFT50

A, WS 2FES T 23S DIE00es
B. @&m olSived Swdod) Iatv
D0 Bge T ESrOH P
Dakoed

C. &BybO T EHIBSE5E

(1) A3

(2) A8 B Sresd
(3) B DO C s,

(4) A, Bbaxw C
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928. (Choose the word which is least like the

29.

30.

other words in the group.
(1) Copper
(2) Zinc

(3) Brass

(ﬁ}] Iron

In a certain code FIRE is coded as DGPC.
What will be the last letter of the coded

word SHOT ?
1 Q
(» R
(3) S

4) P

Suneetha travelled 12 km southward,[30. 8 ordaaber BBSPOO
then turned right and travelled 10 km,

then turned right and travelled 12 km.|
How far is Suneetha from the starting

point 7
(1) 10km
(2) 32km

(3) 12km ' l \ V2

(4) 22km o

(13)

28. 35552-3&35 W@ﬁmﬁ@ TS Silﬁonﬂ
2385 Kool ¢330

(1)
(2)

(4)

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

(3)

o°A
205
chle

Rl

Q

R
S
54

12 8. &80 FDW
HEIHSH SOA 10 8.2, PaLredood.
S0R HSo ©HAEZDH 86A 12 3.
S0Ere30008. 0w FHE TWaH
B05H0s0SH Jod (rsod” &od ?

10 &.20.
32 &.2v.
128.5.
29 8.2%.

29. FIRE @3 Sod) §& 9§ DGPC
R, 8 F& grRd SHOT Sord) @RS,
o9 D38 ego S&S

06
Babredo,
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31. Here are a few different types of Venn|3j. Lgﬂff} DTS 0 WS qéﬁﬁmﬁgm_
diagrams. Which of the following R o ﬁ@-ﬂﬁcﬁ)
diagrams correctly represents the given a‘ﬁﬁm&ﬁ o

statement ? R K80E0G.

Statemnent - | (03233300 : | |
If the animals that live on land and IS £oB  wmowPod, Jop
the animals that live in water are s, HFHOD 33% 50)@@3] .
represented by two big circles and -
the animals that live both in water 333_3: E)éjée Bg&méﬁgj_ 20T 7€)
and on land with a small circle, the ﬁ)ﬁg 53%0 &3 APU0ONS, & :
combination of these three is T SrG0e30) KO3y 35 DS | |

S SR IS >

w O O

O | 32. 208 ﬁeﬁé’o J°0 DAL $E058 QL@KJ&
32. Select the correct answer from the given 9
options which would continue the series, e 3(1‘1}:::& L

W W WA 2 v

WIW| 2

(1) (1)

2) (2)

IHE Hip

V
MA
VWA

@ | WV *a R
MW

4) (4)
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33.

34.

35.

36.

Ramya ranks seventh from the top and
twenty-sixth from the bottom in her class.
The number of students in the class is

(1)
(2)
(3)
(4)

31
32
-33
34

Ifx:y:z=23:4:7, then the ratio of
x+y+2):z="?

3 Tig
(2) 14:3
(P 2:1

(4 1:2

An accurate clock shows 8 o’clock in the
morning. Through how many degrees will
the hours hand rotate when the clock
shows 2 o’clock in the afternoon ?

1y 180°
(2) 160°
3) 190°
(4) 270°

The length of a rectangular shaped park
exceeds its breadth by 17 metres. If the

perimeter of the park is 178 metres, what
is its length ?

&
(2)
(3)
(4)

36 metres
17 metres
T4 metres

53 metres

(15)

33.

J34.

35.

36.

S35 BITH TPEH0E rso od
BoiEd 73 D“,gﬂgiﬁs 08 S0 ok

3 26 3 TRHODIN. eows
e3355KBS50CO I0GID T B0 Hogs ?

31
32
33
34

(1)
(2)
(3)
(4)

x:y:2=8:4:7,0005 (x+y+12):z=
T2
14 : 3
e |
158

(1)
(2)
(3)
@

ENSorr HITD 28 NGOTPESD &SI
8 0. P08, &8 HGArTED HEPETH0
2 0. JraS8H. TR Hotosuey )
Sie §ea0 HHINHEHOH ?

(1)
(2)
(3)
(4)

B SHERTEI0E DI o Ty
), oo Deseny Ky 17 . JES. &
L), WHepFod 178 . sans T
) o ?

(1)
(2)
(3)
(4)

180°
160°
190°
270°

36 metres
17 metres
74 metres

53 metres
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37. In the ful]nwjﬂg line diagram, the|37. @Dﬁ ES {IT“EJ Soth &5 gc.-;‘i.f’) Cﬁhgb

expenditure of g company (in lakhs of Rs.)
for a period from 2010 to 2014 is shown.
Read the graph and answer the question.

-
o
I

i

L
B N e
S
S o
i

150 -
100 + ‘

Expenditure in lakhs of Rg.
cn
g

2010 2011 2012 2013 2014
Years

What was the overall average expenditure
from 2010 to 2014 (in lakhs of Rs.) ?

250
- o
(2 200 * 02

\;E(i

’
(3) 150 A
(4) 300

38. The 2018 Asian Games were held in these
Indonesian cities.

(¥) Jakarta and Palembang
(2) Bali and Batu

(3) Bitung and Banjarbary

38.

(4) Padaﬁg and Pekanbaru

9

DSy 2010 Hod 2014 SEH (oF &
©8") SrSadS0. (T SO aTrag,

@ravod.

300 +
250 T
200 +
150 +
100 +

Expenditure in lakhg of Rs.
(o |
S

] 1 | 1 I

2010 2011 2012 2013 2014
Years

2010 S0 2014 S0S5SE0 S5 B
VAT P 0¥’ (v¥o K, o&") |
(1) 250
(2) 200
(3) 150
(4) 300

083N &5 DTS 2018 &F |
e3A° (S5 220w :'

(1) 50 H8om FBoarof
(2) 2 HBA ey

(3)  BevoR 0% Boeserms,
(4) ool mao:in FESeT
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39, The name of the submarine which

40.

41.

42,

was newly introduced into the Indian
Navy on 6th May, 2019 is

(1) INS Vikrant

(2) INS Virat

(83) INS Krishna

(4) INS Vela

A prominent pérsun who received the
Padma Bhushan award in 2018 is

(1) V.P.Nanda

() M.S. Dhoni

(3) Pankaj Advani

(4) Ilaiyaraja

The woman who was appointed as
Tribal Welfare Minister and also as a

Deputy Chief Minister in Andhra Pradesh
in June 2019 1s

(1) K. Dharmasri

(2) P Pushpa Sreevani
(3) M. Sucharitha

(4) T. Vanitha

United Nations

This specialised |
organisation held its centenary conference
in Geneva in June 2019.
(1) United  Nations  International

- Childrens Emergency Fund
(2) World Health Organisation
(3) . International Bank - for

Reconstruction and Development

(4) International Labour Organisation

(17 )

Lol 1 &

39. 3o 6, 2019 I TS Feswod 3o

S5eehes 23°0SBTTN Rlot)

(1) INS 50

2) INS TS5

(3) INSEy:r
(4) INS3Io

@08 TBS" 2018 H0SSY0E ISEres
(el L{iﬁ?e:é |

(1) D.2. Soor
@ 35H55.69
(3) DoEE eTrg
(4) g¥aLoreEr

12019 2SS’ o B9AF Ad=S HoZH

T oA SHOAD &HS0P; SHOGTT
NOHAOSESTED ke

(1) 3. 53,
2) 2. DYy Go°e
(3) M. DSOS
(4) &3, S

08y Ooesy DS 3005 s L::E%ﬁ 9010

-‘é@‘&n 29s50°w%0 (Centenary Conference)

S 2019 2°0d° 2:0R08 |

1) ow3OE 555 goedEss DS,
D08y Ho&

2) 356 S e PES

(3)  ROLBSIS eroH $6 OSSEPHES
008 BS00 oS '

(4) 30eTHSS Bd SEIEID
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43. The metal ion present in Vitamin By is
(1) Ni2+
(2) Fe2+
(3) Mg2+

(4) Co2+

44. Consider the following :

A. Camphor
B. Chicory
C. Vanilla

Which of the above are plant products ?

(¥
(2) BandC only

A and B only

(3) Aand Conly

(4) A, BandC

45. A boy complained of bleeding pfnblem in
his gums. The doctor advised him to take

more quantity of

Green vegetables

(1)

(2)
(32 Citrus fruits

Yellow fruits

(4) Yellow and green vegetables

(18)

45.

43.

44,

DeIDS By 50O &5 ©OIrD

(1) Ni2+

(2) Fel+

(3) Mg2+

(4) Co2+

808 T 3BMeIoS0d :
A.  S&rdo

B. 95%

C. N

2 TS By 0d 3Ty &dyien
(1) A Sda» B aSegad
(2)
(3) ABay C Sresd

(4) A,B8am C

B 50800 C S5

e
SHHOEI &6 SEK 3T f:ﬁgE
oS8 ) 3 E;J“e‘_'i“iﬁ:]és 3D 855

mﬂﬁsaﬁdd}
(1) EEJ;’JE’JJ ErOmreahen
(2) JIRDHYod DO
(3) DI S0

@) SE DB BB Lrtmapes

DOTUD  Sozre WOYS® %o |
|
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46. Men of iron will can achieve many things.

bove sentence ‘iron will’ means *
A 48. Do you think he may know Suma’s

telephone number 7

( strong determination e
. This sentence indicates

(2)  good work | (1) taking permission

(3) pleasure (2) giving permission

(;) expressing possibility
(4) ignorance

(4) expressing wish

47. No sooner had I put the phone down than 49. Choose the expression that means

it rang again. | ‘Sadness’.

Choose the correct expression or (1) Take to heart

conjunction that can be used to rewrite

f stone
the sentence above without changing the (27 Ahearto

meaning. (3) Have a heart

(4) Heavy heart
(}J" and .... therefore

50. The puppy looked so ‘puny’.
(2) scarcely .... when .
The meaning of ‘puny in the above

context is

(3) Neither .... nor
(¥ Small and weak

(4) Either .... or (2) Strong and hard
(83) Curious and healthy

(4) Active and healthy
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5l. As per I.S.I., which of the following

52.

63. To measure an angle or to set-off an angle, | 53.

PART B

symbols denotes Lake or Pond ?

]E_}xpand H.F.L.

(1) High Flood Level
(2) Heavy Foot Level
(3) ,Hard Flood Level

(47 Huge Flood Level

what type of scale is used ?
(1) Plane scale

(27 Diagonal scale

(3) Vernier scale

(4) Scale of chords

(20)

ol.

. (4)

o52.

(]
0B

808 89y Fed” I8 LS.L S5ty
S8 8o Soxi BOHBOHOMD

(3)

H.F.L. 5085 a°shs50s SV
(1) e 55 S30€9330

(2) D)5 @it 2EIS0

(3)  5QBES S5 &350
(4) OI0BDS S5EES 08350

S0 HBay S SR A0
S0 KIS ) o0 Toesrsocss

1) ﬁ:‘-bﬂj

@) GRS By e
(3)  SB)aHE 2y en
(4) S & o)
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54. What is the formula used in chain survey
. to find the true length of line ?

55.

96.

(L
1) 1=1 [L)

@ L=I [%]

(3) L'=I [35)

(4) All of the above

Groove along with the edge of a member is
called

%
(2)

Chamfering

Planning

(3) Mitering

(4) Rebating

The total angle in a circle is
(1) 90°
(2) 180°

(3) 270°

& 360°

(21)

€]

54. DS ®0; Sowd VOB vy, es

55.

56.

(2)

- (4)

ESe 830060 @WJ?éaﬁagj 5 R es05
&3a3rAo

(L
@ ‘M(L]

i
v=i ()

':-ggl' 'E:"Jnu:hﬁ:h)

(3)

(4)

2.8 PEESD ol Jowd JThn o
T Q Do HIE0HD ebothth

(1) TroBOIH

(2) ZEAold

(3) eadon

83e30h

SyBo $osd Bwgo Seev I Gifien
GOL

(1) 90°
(2)
(3)

(4)

180°

270°

360°
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o7.

a8.

- 99.

60.

In the following, which symbol shows
building ?

(1)

(2
-
o
@
AAA

The common _angle to draw inclined
lettering is

(1) 30°-45°

(2) 90°-100°

(3) 60°-175° -
(4;), No angle

In a bond a layer of continuous headers in
elevation is called |

(1) English bond
(2) Heading bond

(37 Zigzag bond

(4) All of the above

A double collar roof consists of

collars.

(1) one
(2) three
() fwn

(4) All of the above

(22)
57.

o8.

89.

60‘

(2)

C]
208 DS0ed’® 28 DYoMK BIPIOTN,
=

(1)

(2)

] T 1
L = g

(3)

P 41
LA

2

(4)

§

CRERTe BLooH Tt &%

QAo %3 500G Des

30° - 45°
90° - 100°
60° - 75°
DO =

(1)
(2)
(3)
(4)

28 2ro& IS0 T S D (S50
OBy argEyE’ &) Eo & ero&

QT%E30D D00
(1) 30AN eroth
G ok

2Neh 20

:q:] Eﬂghﬂin

(3)
(4)

2.8 Gend sob 0y Soh Ay sob
;3-9“’%&1: )OO
(1) 1

- (2) 3

3) 2
(4) 2D E*:)Jcﬁj,}

!
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61. Which type of flooring is advisable for a|61. P50 3o 0%0H  dewso

dance dias ? %ﬁaoﬁm Doy Do

(}6 Wooden flooring (1) agbﬁ Soes DaHads
(2) Concrete flooring | (2) Tc:[_ée.:aée SR IaHAS
(3) Tile flooring (3) 868 Salrd Dovads
(4) Marble flooring @) S8 S Sabnds

. ‘DT 5¢53500 B8 Ho
62. ‘Ballast’ is a term related to 62 DT €930 Neialelalet A

(1 Railway tracks (1) 88 &5

(2) Roofs (2) PEIPID

OO
(3) Floors H) w90

4 O
(4) Foundations 4) D

63. B5O0IHO Doo SOESSWSD $rQ pond

63. After setting of a levelling instrument, @53573;5 E‘j.ghsej SO 3oy Jdsed
taking of first reading is called BAOKO5 D550 ? N

(.1] D085
(2) EF‘SEEJ_és

(1) Foresight
(2) Backsight

(#) Intermediate sight (3) aﬂea553é0ﬁ)@m EJ_E.:;J

(4) All of the above @) D o,

64. In a pitched roof, the triangular portion of 64. bé ErDSotH DI (HEHEsESNS 5o

end wall is known as | RES D0 DeodHth ?
(1) Gable or Gable end 1) Rend Soe Rewd Job
(2) * Triangular end (2) (SgHzSw o0&

'(3) Endofwall ' (3) D3O grKsw

(4) None of the above . (4) 8o 7%
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65.

66.

67.

68.

3) d=

In a broad gauge, the distance between
two rails in India is

(1) 150 m
(2) 120m
(3) 1676 m

(4) None of the above

The stone which is placed in centre of a
arch is called

(1) King stone

(2) Flat stone

(3) Key stone

(4) All ﬁf the above

The actual length of the object is 5 metres.
When the R.F. is 1: 50, what is the length
of the drawing ?

(1) 5cm

(2) 15cm
() 10cm
(4) 75cm

The formula for depth of concrete bed in
foundation below masonry footing is

f 2
(1) d= BJ_
m

— sz-s k2
= m

2
p

(4) None of the above

(24 )
65.

66.

67.

68.

€]
5SS BES TERORS) @ &Rg
Bk, ol e ?
(1) 1-50 2.
(2) 1-20 .
(3) 1676 2.
(4) 8 5%

e T8 &b S0 DSerrSuy
3B ESENS0L3 T’ DO ?
(1) Sof B

(2) ¢ &

(3) 3§ FS

(4) DI edya

28 3% @0E, FEH 5 V. oD RE.
1 : 50 ©c0S331¢eo, Drawing S0 &0
re) Dods ?

(1) S5cm

(2) 15cm
(3) 10cm
(4) 75cm

QVTDO A0 SP0den bed Ny Bt
fT7 (€930

2
@y ==
I

T \/102-5}:2

I

3) d= (&
. p
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(25)
69, .'553 350858 skew back 95 crown & & Ko

69. The distance between skew back to riddle
of the crown in arch is known as

(1)
(2)
(3)
(4)

70.

Springer

Spandril of an arch

Haunch of an arch

Soffit

Caleulate the number of Portland cement

bags for 0:05 cu.m.

(1)
(2)
(3)

(}4 1-5 bags

71,

(1)
(2)
(3)
(4)

2:5 bags
20 bags

1-8 bags

B

VAN

10
5

2

/\

Calculate the area of the figure.

C4

D2

15 sq. units

18 sq. units

20 sqg. units

21 sq. units

.

SrE520850 Q0o ?

(1)
(2)
(3)
(4)

@JDNE

.:3:3::[_&5 e &0

oI

70. 0-05 cu.m ~SOCD Jﬁ)ﬂ} Ea'sqjﬁﬂ"ﬂ& D0
Koo EORAOLDS ?

71.

(1)
(2)
(3)

2-5 Howen

2-0 Dowoen

1-8 0THED

(4) - 1-5 SoWew

208 DSBS BE, FT e 38,0806

(1)
(2)
(3)
(4)

B

LA

10
5

2

AN

C4

D2

15 56565 asrdedy

18 ¢35 AHrRed)

20 SE5E:3) AHTDL,

21 SEB) arded
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72. 20 m chain is used in a work and
measured 1000 m. It was found to be
1 decimeter too long. Find the true length.

(1) 1000 m
(2) 1002 m
(3) 10045 m
(4) 1005 m

73. Which statement is correct ?

(1) Two contour lines of different
elevations can cross each other.

(2) Contour lines close together indicate

flat surface.

A closed contour line with one or
more higher ones inside it represents

a hill.

None of the above

(3)

(4)

74. What does this diagram represent ?

100
90

@ Hill
(2) Flat
(3)
(4) Building

Depression without an outlet

(26 )

72,

73.

74.

[

20 2. chain H5FAHSNE 1000 &
Fostsn OAS. @0t 2 G,
eSS) SEVINEE M BO03D. o9
OB ) DOds ?

(1)
(2)
(3)
(4)

1000 m
1002 m
1004-5 m
1005 m

£08 T7¢3&° DAV EHFS0E ?

(1) Cod wotwrd B8y o @I
DOANEL] OS5 oS,

ot 85y o &) e
DECY &S30B0S0m KHO0HD.

(2)

3) s G0) SPotrd 2 ¥od XofS
SBBEL IS &%, ko O
06 (hill) 7 1H80HED.

(4) D Ao =)

& SgrOBo 3D 5rdii0d ?

100
90

80

5“::&_.

59 oo
o &3y @Poesan
ARG

(1)
(2)
(3)
(4)
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75. Which statement is correct ?
(1) HI-BS.=RL.
(2) R.L.+1S.=H.L
(3) - R.L.+B.S.=H.I.
(4) None of the above

76. Whole Circle Bearing can also called as
(J Azimuthal system
(2) Arbitrary system
(3) True bearing
(4) True meridian

77. . Which of the following is correct ?

(1) Foundation is the lowest part of the
structure which acts as a media
between superimposed load to

subsoil.

(2) Stair head should not be lower than
2 m.

(3) Lintels are horizontal members
provided on the top of openings.

(4) All of the above

78. The following continues thin with zigzags
(straight)  indicates which general
application ?

4 4
(1) Long break line
(2) Hidden line
(3) Cutting planes

(4) Hidden edges

75.

76.

717.

78.

Sod 638" D& Desssn ?

(1) H.I -B.S.=R.L
(20 R.L.+1S.=H.L
(3) R.L.+B.S.=H.L
(4) DIJATVD T°)

Whole Circle ]E’;eax'ing S SHBBE Hi%
(1) 9B30HS VP

(2) 3000 JPD

(3) (g ZOOA

(4) (to° BGADD

£08 T°¢38° DB VB> ABoBots ?

(1) E&&ES» o), $od grrsw, D38
EOHES» 3w, -athHH g
WOBTYTAS  [30HWosS T
Q)8 0.

(2) Stair head CGw¥), I 2 . ¥0&
S5 3 SOLTRD.

3)  Ootody ©:5)050¢32) openings 2CS
S0, 32 horizontal members.

(4)  PINOHD Jessnd

S8 B zigzag O §od 636 A8
D020L0DVSE

{ 4
(1). Long break line

(2) oSG8 89
() POLOWS S
(4) oTrAAOS) 5043 edges
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} f
79. Identify the correct figure in |79, Dimensioning lelab Lgﬂ& T3S VA
djmensinning. 2 Q_] Sore Ko ?

e

(1)

(2) (2)

90° ;
e 90
Ty
[ 7] AW 4
90° 90°
B k&
- —gog/ , (3) _Bé_/—
90°

(4)

(4)

80. R.F. =
80. R.F.=

S%) ), Do Fess)
EFO00oR S0t Aahecd Seess)

(1)

1) Actual length of the object

Length of the drawing
| 2) SR Y e ST O
Actual area of the object
() Resistance of the object I D-:’m§b D& ¢80
. Graof Soes A
Length of the drawing (3) . 2GS ED)

(? ) Actual length of the object Qe Cl—iﬂgb VRN PES)

Resistance of the object
Actual area of the object

SN QIg), des REACINW

(4)
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81. A point is situated above H.P. and in front
of V.P. It comes in ;

(Y First quadrant

'}

(2) Second quadrant
(3) Third quadrant
(4) Fourth quadrant

82. Twelve equal and regular pentagons as
faces will be called as '

(1) Octahedron

(2) Dodecahedron

(3) Icosahedron
(4) Hexahedron

83. A plate is having thickness ‘t’. Find the
rivet diameter with the empirical formula.

(1) d=6+t

(2) d=65t
(3) d=6-84t
(4) d=675t

84. When the distance between the stations is
so large that they are not clearly
intervisible, which of the following
ranging is advisable ?

(1) Direct ranging
(2) Indirect ranging
(3) Inclined ranging

.{4) . None of the above

81.

82.

83.

C

2.8 Do) Horizontal &38¢05: 203
(H.P.) Vertical &0305% ;i);.gcij &0
e @8 (308 F¢3S° DE),E G0t

(1) R3¢ Quadrant
(2) Bo&sS Quadrant
(8) SooreisS Quadrant

| (4) r.f;gé Quadrant

12 JdrS grfidver 89S regular
pentagons 0 &IV 19SS &
D300 DO ?
(1) &G
(2) &GS
(8) SIS
(4) IS

;¥ f.c_:;:és Q30E), HOLSW {th.jckness) T

WOOS Ao ©° Rivet T o),
RS 5080 Bewiy)so

(1) d=64t

(2) d=654t

(3) d=684t

(4) d=6175t

Cotd VICL  Soly STCS0  EIHED
DESOT D> © Tooh  SEAI
T30t

(1) Direct ranging
(2) Indirect ranging
(3) Inclined ranging

(4) D IDAWD =)
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85. The fixed reference point of known

86.

87.

88.

Reduced level is called
(1)
(2)
(3)

of

Turning point
Bearing of a line
Back sight

Benchmark

Which are used to connect the rails at
their ends ?

(D)
(2)
3)
(4} Fish plates

Sleeper
Rail
Ballast

Total depth of water required by a crop
during the entire crop period is known as

(1)
(2) |
(3)

7

-

Base _perind
Crop period
Duty
Delta

The cross drainage work, where drain
-passes over the canal is called

(1) Aqueduct
(2) Siphon
(3) Super passage

(4) Level crossing

(30)
85.

86.

87.

88.

(€]

08 Dot Basty, O Reduced level
SPOED D ot ?

(1)
(2)
(3)
(4)

00N SO00E)
300f D o
AL TN
Bowsrb),

SO D600 A EL)0 ?

(1)
(2)

(3)
(4)

Sleeper
Rail
2R
[y TN
&
L i)

D5 545

S0t Doserdd sSens  Ded G308,
D050 JS00E0Es 2

(1)
(2)
(3)
(4)

5D H0AHE
5D HBaHE
Cﬁ?ﬁéﬁ

GEP

=

Canal 2 @5 3% cross drainage

EEIND D00t ?
(1) &8sk |
(2) S

(3) IS8 D5HE
4) 8395 =hoh
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89. How many parts of fine aggregate are 89

used in concrete 1 : 1%— 37

(1) 1

(2) 15

(3) 3

(4) 556

90.

90.

91.

92,

93.

(4)

A structure constructed at the supply of
water into the canal is called

(1) Divide wall
(2) Guide bank
(3) Head regulator
(4)

Reservoir

The internal curve of an arch is
(1)
2y
(3)
(4)

Extrados
Intrados

Effective span
Rise '

is called slope in coping.
Cornice

Corbel

Weatheﬂng

Throting

(1)
(2)

(3

The total usable covered area of a building
1s called as

(}/ Plinth area
(2) '
(3)
(4)

Floor area

Site area

None of the above

01.

92.

93.

(3)

1 ;3938 Ko S0ty S0t Fina

13 dl= g
2

Aggregate CO0E). gD Jogs 9

(D 1

(2) 15

3) 3

(4) 55
Canal S0 eID SHLH 8IS

EEEIND DO ?

1) &3& -5

(2) B& em508

8) & BrBed

(4) Oezurad

Eﬂt'i)___] S0B® &5 '&0@.&} (internal
curve) & sDOEHED ?

(1) EerED

(2) JORFES

D85 S

(4) B

S20R @0k, Trensesansd Dot ?
(1) "

(2)

SN

SN

(3) JLBoh

(4) (&eoh ,
MHTS0 S0t - éSATAcS 3¢S
covered area & 20O ?

(1) Do& Héaw
(2) & Doawe
(3) 45 Doare
(4) Bt =°¢H
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4. Tho following conventional sign indicatos |94, & Qo GOS8 Howoowdd

(1)  Indian type W.C. (1) 08aHS @5 W.C.
(2) Shuwurhegdl @ %56 6
(3)  Shower stall
(8) &6 S
(4) None of the above
(4) dBA 5°¢H
95. The conventional symbol of the figure {
indicates. 95. &3 VSBS00 B K0220H0DS56
N\ | | e N
% . % X X X

(1) ° Chain line
(2) 3’353"@ line

(¥f Chain line

(2) Boundary line

(3) Board fence (3) Board 503

@) Baredwisa : (4) Bared wire

96. The length of Gunter’s chain is 96. Gunter's Chain 0'3.1)55_ ES)
(D) | 64 feet ' (1) 64 entorden
(2) 66 feet (2) 66 e9¢oihren
' (3) 65 feet (3) 65 e
(4) 67 feet | (4) 67 e¢oiHe
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97. 'The conventional symbol of the following |97, s D520 BOA POIOEICUIIE

98

[igure indicales in survey

P

D

(1) Ejé.:g
(1) Tree
(2) 7.'5@]_]
(2) Church
(3) &_ﬁ;ﬁﬁﬁ}b
(3 North
(4) HGEJJ@SJ

(4) Ambulance

The following conventional sign indicates

(1) Unmetalled Road
(2f  Railway Line
(3) Metallic Road

(4) State Boundary |

98. &z VS50 B DOBSBSN

(1) Unmetalled Road
(2) 385 85

(3) ToerdE &'
(4) TR D8

99. Scale of chord & (08 T3 JoHo

99. Scale of chord is used to measure éécﬁyﬁ@;ﬁ;
(1) Angle | (1) Seassw
(2) Length (2) r&ED
(3) Breadth B) Sty
(4) &%

"_:j)/ Depth

100. S5O0h 5O5EB0S’ Leg&& Job £ 2

100. Tripod stand in levelling will have 8hy éotioss
(1) 1leg (1) 1leg
(2) 2legs (2) 2 legs
37 3legs (3) 3legs
(4) 4legs (4) 4legs
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101. The depth of footing below ground level
calculated by the Rankine’s formula 1s

2
W (1-sin0
( H-=
o i o (1+smﬁ}

I 2
Ha P [;+sm9]

(2) .
W —smb

. 2
@ H< P [1—5?19]
W (1+sinf

W (1+si119]2

(4) -
P |1-sin®

102. Alidade is an instrument which is used in
type of survey.

(1) Chain Survey

-4
(3)
(4)

Compass Survey
Plane Table Survey
Levelling

What type of flooring can you suggest for
workshops ?

(1) Timber Flooring
(2)
(3) Cement Concrete Flooring
(4) All of the above

103.

Tile Flooring

104. The main reinforcement for lintels in
R.C.C. lintels should be

(1) The Bottom

(2) At thetop

(3) At centre

(4) None of the above

(34 )
101, 50 S SHFDED adolrody

102. =2dEE

103. gD‘&i’Fﬁﬁmﬂ

104. R.C.C. oSS’ dotrsS Soes S0

9

PTP(€3a30

1 - Emﬂ]
1+smn0

1+smﬂﬁ"
1-sinB)

1- smEl
1+sin0,

[1+5mBJ

1-sin®

35@53::&5 s
SI0PA0E0D ?

1) Bows 33

(2) SP0rR 53

3) R0 G 38

(4) 838ch

$0; ok

Aoy  Jéwsoed  FEdoh
JaNSON &0 ?

(1) edo=b EBoh

(2) &S Fooh

(3) JPoeS sPoew Fooh

(4) ©d)a

03986 00l e300 (53450
1) S8 TSI

(2)  2gTNa0aS

(3) EﬁJﬁﬁgﬁ

4) =%
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105.

106.

107.

108.

| (3)

To receive the door shutter, the outer edge

of frame is provided to
(1) Recess
(2) Reveal
(3) dJamb

(4) Rebate

Weight of 10 mm diameter bar is

kg/m.

0-52
0-82
0-62
0-72

(1)
(2)
(3)
(4)

The scale on which three dimensions can
be measured is called

(1) Plain Scale

(2) Diagonal Scale
(;i‘)/ Vernier Scale

(4) None of the above

The stone masonry made of properly
dressed is called as masonry.
(JJ/ Rubble |
(2) Random

Stone

(4) Ashlar

(35)
105.

106.

107.
- BoHsw ?

108.

&6 B Joo &6 3¢5 b5 I
25080 DoY) DTSN

(1)
(2)
(3)
(4)

10 YWl Tgssin SOAS &b ),
203) S.22. / 6.

0-52
0-82
0-62
0-72

(1)
(2)
(3)
(4)

St EPodsen EOAS falre‘i_ SSULSEEN R

(1)
(2)

ROV W,

GArR'SS e
3) '
(4)

35&@{}5 EJEIEIJ
DaDSS)

T (@R DY PSS SLGS
3'53"355‘55 P30

Send
TPotian
)
TRTSx0e)

(1)
(2)
(3)
(4)
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109. The term Cleat is used in
(1) Stone Masonry
(27 Brick Mnsmi*y
(3) Stairs

(4)  Pitched Roofs

110. A canal designed to irrigate throughout

the vear is

(1) Green canal

(2) Continuous canal
(3) Permanent canal

(4) Perennial canal

111. The outermost support of an arch from

which the arch springs
(1) Lintel

(2Y Abutment

(3) Arch

(4) Voussoirs

112. Combination of tread and rise is called

(1) Flight
(2)- Step

(S) Landing
(4) Hand rail

(36 )
109. 355 o) S50 GHAIPNOW ALY

110.

111,

112,

(1) o RURINTS
2) (OF 2N
@) R0

@) DSE Sy

A0S D3 (PTTTE
D308 ?

1) A S

(2) ¥0&3Nog00R SIS
(3) IGR0eS SS
(4) BIAHS S

|

@1

|
|
|
|
|
I

EOAS  SPenyy,

{

&8y S0 outermost NG DTeasosd

300D ?

(1) Ootd

(2) 2850085
3) b

(4) TPk,

£3G 35980 TH WPS0H Dot ? |

(1) %éf

@ B

@) eorodof
4) S%& gs

e e S
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118. The interior portion of a wall between the |118. f°¢ Q30E), 99 PRI ¥oesd NlavleV

facing and backing is known as B30 SHOO IDE Sy DO%E0
(1) Face Do ?
(2) Back W 9
(3) Course 2 EF'SE
(/ﬁ/ Hearting @) 565')
(4) S*Qoh

114. For modern public buildings, the type of
stairs preferred is

114, SFES  ((DFOB;  gaIndiadonod NOES00
S RO Doy, TEbI0%H BdH
D800 ?

(1) @éﬁ' %Eﬁ EE&
(2) PIESBE 36,
@) hdf 36y
(4) :‘jﬁéﬁ_ %5'3

(1) Straight flight stairs
(2) Bifurcated stairs

(37 Doglegged stairs

(4) Spiral stairs

115. type of traps are used to
disconnect the sullage drain from the
main drainage system.

£y

116. & B5PS POy Jowd @IE 0

RPED FONOHLLD GHIBEAOBILD ?

(1)  Gully trap 1) x® @J‘Ets

(2) Silt trap @ B s
2 (€

(3} Intercepting trap (3) 50LERROR 35
23

4
(4) Grease trap 4) {f\f& 75

116. The minimum dimension that can be|116. SOCASS S Soth HGoiHd 5

measured in diagonal scales is 088 Bend)sn ?
(1) 10 mm (1) ‘10 mm
(2) 1mm (2) 1mm
o 01mm ol g
(4) 001 mm

(4) 0-01 mm
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117,

118.

(4)

119.

120.

The total of internal angles of hexagon
will be

(1)
(2)
(3)
(4)

60°

180°
720°
90°

The minimum thickness of R.C.C. slab
recommended by L.S. 456 is

(1)
(2)

%

10 mm
100 mm

50 mm

None of the above

instrument is used to measure
the line of sight in surveying,

(1)
(2)
(3 Theodolite
(4)

Levelling

Prismatic compass

None of the above

The area of the triangle is

5 cm

8 cm

(1)
(2)

25 sq. cm
40 cm?

13 sq. cm

(4) 20sq.cm

(38)
117, ¢y Sot Ho ©ods Eoeosino g,

118.

119.

120.

@

Boddn ?

(1) 60°
(2) 180°
(3) 720°
(4) 90°

LS. 456 ($5°6:50 R.C.C. pESy S0k

(1)
(2)
(3)
4) D s

10 mm
100 mm

50 mm

D HOEEIE’ B e5p Pe5 Tl Sk

(1) 8590h 385550

(2) @538 28555

(3) BBrE3eS

(4) ) =)
S (©ghaio @y, e KR

o ecm

8 cm
(1)

(2)
(3)
(4)

25 5. cm
40 cm?2

13 5qQ. ¢m
20‘ Eq_ cm
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121. Water-cement ratio is determined by|121. & $50f OO b boes Ry &)

conducling f-]ﬂ;&ﬂ‘:j““jmdm

(1) Consistency test ' (1) 5{?33”85,} @E_; ‘
(2) Water test (2) b 55,:,3
(ﬁ/ Slump test 3) r:éﬂfj 5‘3’

(4) None of the above f

Wy 208

122. The degree of grinding of cement is called | 199 2y3y0¢5 grinding G3%), S oSrSsn

(1) Roughness (1) 8HID
(2 Mixing (2) SD.%’:,DE
(3) Fineness (3) Podw
(4) Clinkers (4) £oxb,
123. For water retaining structures 123. Q3D Dens Do :35‘&5'3:133'553 @ Lﬁ'5
grade of concrete is recommended. SP0d6 T ?
(1) My (1) My
(2) My; | (2) My,
A37 My (3) My,
(4) Mg 4) Mg,
124. The obstacle which obstructs chaining but 124. 9 @TOBBIO SO LA ameJD&
not vision is 8%0%° chain c:risc:t" S eniHitoH dev 5°0
(¥ Hill 03 Jrdossn
(2) Pond 1 6
(3) Bushes h (2) &
(4) All of these (3) evP
' . (4)  edyamw
125. The trimmed size of A, drawing paper is
g | 125. 30 BGGS A, (Geowoh D36 Fod
(2) 841 mm x 1189 mm : (1) 420 mm x 594 mm

(2) 841 mm x 1189 mm
(3) 594 mm x 841 mm
(4) 297 mm x 210 mm (4) 297 mm x 210 mm

(3) 594 mm x 841 mm
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126. Which sand is used for masonry work ?

(3)

River Sand

(4) Fine Sand

127. Which foundation is formed of thick

reinforced concrete slab covering the
whole area of the bottom of the building ?

(1) Spread footing foundation

(2) Caisson foundation
Pier foundation

(3)
(4 Raft foundation

128. What is the expansion of D.P.C. 2

(1) Different Proof Course
(2) Damp Protecting duncrete
(3) Damp Proof Course

(ﬁ( Defective Plain Concrete

129. Scaffolding is
building.

structure for the

(1)

temporary

(2) permanent

(}/ part of building

(4) Nuﬁe of the above

(40)
126. Acien Seerto JEEPD 208 T 9

127,

128.

@)

129.

- (3)

(€]

ey g
DSV Y
I8 FE

(1)
(2)
(3)

(4) ‘1’1355:1&3 Qa8

hielah
g A

28 Iy Ty
€9

DOEDS  HTO
PTOgd0doBalw  R.C.C.
g0 Bed 30600 ?
(1) @& Hedoh Hmed
(2) 330 HTd

(8) >DaHd Hrd

4) ©T°f HTO

&.5.%. B0gs T BeoSysn ?
(1) GHB0ET B S0y

(2) @0 F&EoR sodew

(3) oD B Esd:J

3335 25 sode

PSS EENIIeH NPQON  9:5050
07063 56 Beooysw ?

(1) Sossb
(2} 35&35&5
PISS50E" 2.8 ey

4) D s
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130. A series of steps without any platform,

break, or landing in their direction is
called

(1)
(2) Doglegged flight
(3) |
(ﬁ/ Circular stairs

Straight flight

Spiral stairs

131. In 30 m chain, the length of one link is
equal to

().}f 1m
(2) 20m
(3)
(4) 20 cm

20 mm

132. The height of the building can be
measured with the instrument.

(1)
(2)
(3)
(4)

Survey chain
Prismatic compass
Dumpy level
Theodolite

133. One mile is Et:iual to I
(11000 feet
(2) 3000 feet
(8)
(4)

0280 feet
100 feet

(41)

[C]
130. Q) DSOS SO FeSrS, OF.
arodoh 8o 238 direction & doco
HSNEPAHSN 00D ?

@525
=*hah %eﬁ

(1)
(2)
(3)
(4)

:ni)ﬁé. ::35'3
v 5@5 :ESJ )

131. 30 m ¥05 Do SO 2.5 Oof i) Jos
GO ?

(1)
(2)
(3)
(4)

1m

20 m
20 mm
20 em

132. & J0BOS®  SHAIPA0Y  ISSS0e

RO EHFSSSyH
(1) =853

(2) (DRSre3E 505D
@) &b 338

(4)  BBeBeS
133. 25  hew GrEs Iy ednoH
SRVERI
(1) 1000 escHdrien
(2) 3000 esesorHED
(8) 5280 ea¢hriven &

(4) 100 ex¢coriDen
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134. Rivets are generally specified by

(1) Thickness of plates

(2)  Overall length

‘(3) Diameter of head

(4) Shank diameter

135. -The steel bars are denoted by their
(}/)/ Diameter
(2) |
(3)

(4) None of the above

136. Find out the wrong option in the given
band.

4

‘ -

(1) Huge Stretchers used

(2)

Headers were limited

(3) Both (1) and (2)

(4) No Closer is used

(42)

134. 55D BI oo 1HROIE ?

(1) 5¢5 Gy, Hosn
(2) 378 DG
(3) 3G Tegeded0
(4) D08 aegdain

135. %ge.u a}nﬁt}a’:o T3 Bo%, D ©FEI30

e3P S0 .?55;5;’)“*569‘_&3&3
(1) g
(2) RED
(3) &Satrd RO
(4) A =%

136. & DG &) wroh¥oss $Hw
$50¢] (5309 &S0 HBoSHKH f

5

(1) 338y %057 doessy

@) 356 9,3

(3) (1) Sodak (2) S0

(4) §36 Bx5e,




137. In this frame, which number denotes|137. &3 DSESI0S 2 @08 LQ":S O gHS0D

strut ? SPNOES
1 .
\9\\?« @
(1) 4 S\ 0 (1) 4
,%?) /)\Q\
2 2 N ‘1;?‘% (2) 2
3) 3 %ﬁ 3) 3

138. &  OSS0S  EWo®H  20sEsw
138. What type of joint is it ? | DEESNSH J0HSS

~ - ' | ) I -

— - L1 .k

(1) Lap joint (1) o> 23085850

(2) Tabled joint (2) Geng wosssw

(3) Hinge joint (3) rof 20858550

(4) Fish joint (4) DA 20LS5

139. SrOTFSSE S00@VE TrHS0
139. Man hole is also known as

&
-(’{) Sewer @ osb
’ [
B Bews @ 38

(4) Testing hole (4) &goh S
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140, What type of riveted joint 1s it ?

1N il e
N % '
R |
L N
(1) Lap joint
(2) Butt joint

(3)

(47

Single riveted single cover butt joint

Double riveted joint

141. The term Wing Walls relates to
(1) Roofs
(3)
(4) -

Irrigation structure
Survey

None of the above |

142, Which symbol shows Stream or Canal in a
Survey drawing ?

el I e p——
e -
b T e—

—— . e

(44)

140, % OE&’D 0IBE wOEIID D,
@EJD& |
Pl . 1N
qgé%x | §§§E§§% '
L . 0
(1) oo 22085850
(2) 2085 2085580
3) 2oAS 825 DoRS K36
205330
(4) &ed 8IS 20885
141. Wing Walls e 58350 398
T N020800858
(1) :-EE:JQ}JE!J
(2) IBAKD ﬂm&mﬁn
(3) %3
(4) DO =%
142. (Sods 898  JBswed ST Se 0

BTE055 BrDoSH WEsSn DA 2

_—_“'——_'—
e

—_—— O o e .
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143. The plane on which the view is formed is

144.

145.

146.

considered as
(1) Projector
(2) Pfujectinn
(3) Plane

(4Y" Opaque

Identify the symbol of glass in Civil
Engineering.

= .
v |” =
ANAN
(2) AVAYAYA
ANNAN

T Y VA
LI T W
1
LI T .
LT
LT T 1
\“‘
"k"'n'l

(3)

L T T
\

]
%

(4)

The term ‘FROG’ is related to
(1) Scales

(27 Rocks

(3) - Wooden

(4) Brick

The thickness of a one brick wall is
(¥ 10 mm

(2) 100 mm

(3) 1000'mm

(4) None of the above

(45 )

|

143. 5 Sosods view 9T g

144,

145.

146.

rOQ0DENS DO
(1) =55

(2) (@BED

(3) Sosw

(4) eaf

NS 000D Soth TR Do
P02)SD HQosod

-
=

(1)

=
=

AYAYAYA

(2) ANNAN
AYATAYAYA

‘\\"I.

BRRE
R T

(3)

1,I"l"l."lu'll.

-

-
-

-

L T
L T
,.\\.'i"t

(4)

‘BN @ S50 398 502080956
(1) f&bﬂj

(2) doo

(3) -3%&_

(4) =gtog

2.5 e RS s, EDBSH0E5
(1) 10 ..

(2) 100 o.2v.

(3) 1000 2v.%v.

(4) O =2
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147. Which formula will satisfy the height of
instrument metht}dﬁ

(1) £BS.-:IFS.=LastRL.-1%RL.
(% TFS.-LBS.=BS.-FS.
(3) IBS.-HIL=:IFS.-15R.L.

(4) All of the above

148. At present, what type of sleepers are used
in Indian Railways ?

}i/} Cast Iron
(2) Wooden
(3) Stone

(4) Cement Concrete

149. For conversion of R.B. to W.C.B. for SBW
is
(1) W.C.B.=180-R.B.
(2)° W.C.B.=180+ R.B.
(3) W.C.B.=360-R.B.

(4) W.C.B.=270+ R.B.

150. The density of soil can be determined in
@ w
(2) m?

(3) kg/m?
(4) None of the above

147.

148.

149.

[€]

S o5 gﬂfﬁmjnﬁﬂﬂﬁi 8300k

83900 .
S $0d BYS I TSN

KOS o
e BB ST

(1) BS.-LF.S.= Last R.L. - 15 R.L,

(2) £FS.-£BS.=BS.- F.S.
(3) =BS.-HIL=ZF.S.- 15t R.L.

(4) P e

SRS omodom oAb O
DRSNS TSy ?géga’n Je38
SAArEd BRI

(1) 50 26

(2) dY),

(3) TS

(4) HIoty SPOELD

SErgR 800K (R.B) ook F6 58,6
HOOKNE (W.CB) STty SPW

GI0E), DS JoTe 3132y ?
(1) W.C.B.=180-R.B.
(2) W.C.B.=180+ R.B.
{3} W.C.B. =360 - R.B.
(4) W.C.B.=270+R.B.

150. Jo Y, FOEEDH H Tosrssns

@ﬂJJdﬁiﬁJ
(1) m3
(2) m?2

(3) kg/m®
(4) A8 =25
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